JRERHAT— R REE

1|dtiEE 7 5 2 28.6% 0. 0.0% 0 71.4%
2 BEHH 1 1 0 0.0% 0 — 0 100.0%
B/FR 3 0 3] 100.0% 0 0.0% 0 0.0%
AEESS i 0 1 100:0% 1] 100.0% 1 100.0%
5|BLEE . 1 0 1] 100.0% 0 0.0% 0 0.0%
6lILTEE 2 il 1.1 50.0% i| 1000% 1 100.0%
HNEER 3 i 2 66.7% 1 50.0% 0 33.3%
AEZRE] 3 0 3] 100.0% 0 0.0% 0 0.0%
SliEAR i 1 0 0,0% 0 — 0 100.0%
10[BEEE 1 1 0 0.0% 0 — 0 100.0%
THBER 3 2 il 33.3% 0 0.0% 0 66.7%
12| FER - 5 1 4 80.0% 4| . 100.0% 4 100.0%
13 F 4 6 3 3 50.0% 3] 100.0% 2 83.3%
14| == ]ifE 3 .2 1 33.3% 1] 100.0% 1 100.0%
15[33E 0 0 0 — 0 - 0 —
161 ZNE 2 0 2| 100.0% 1 50.0% i 50.0%
171RIIE 2 2 0 0.0% 0 — 0 100.0%
18|1BHE 0 0 0 — 0 — 0 -
19 FIE 2 7 0 0,0% 0 — 0 100.0%
20| EB7IE 2 1 1 50.0% 0 0.0% 0 50.0%
21| BIR 1 1 0 0.0% 0 — 0 100.0%) .
22\ 532 2 2 0 0.0% g —_ 0 100.0%
23|25 1 0 1} 100.0% 1] 100.0% 1 100.0%
u|=FE 2 2 0 0.0% 0 — 0 100.0%
FEE A1) 2 2 0 0.0% 0 — 0 100.0%
261 E0AF 3 1 2 66.7%| - 2| 100.0% 1 66.7%
27| KBRAT 1 1 0 0.0% 0 — 0 100.0%
28| EEE 2 2 0 0,0% 0 — 0 100.0%
29Z=BE 1 0 1] 100.0% 0 0.0% 0 0.0%
N ENENIN i i 0 0.0% 0 — 0 100.0%
31 SWE 3 0 3| 100.0% 3]  100.0% 3 100.0%
2| BIEE 4 3 1 25.0% 0 0.0% 0] . 75.0%
33 AR 2 2 0 0.0% 0 — 0 100.0%
34| 2 2 0 0.0% 0 — 0 100.0%
BhugE 1 0 1 100.0% 1 100.0% 0 0.0%
36[EEER 1 1 1] 0.0% i — [4] 100.0%
3TENR 1 1 0 0.0% 0 — 0 100.0%
gl Be 3 0 31 100.0% 0 0.0% 0 0.0%
W EHE 1 i 1] 100.0%| 0 0.0% 0 0.0%
40 {EMIE 4 3 1 25.0% 0 0.0% 0 75.0%
41|EEEE 1 0 1 100.0% 0 0.0% 0 0.0%
42| B g2 ? 1 1 50.0% 0 0.0% 0 50.0%
43| EARR 1 1 0 0.0% 0 — 0 100.0%
M|RxSE 1 0 11 100.0% 1| 100.0% 1 100.0%
45| S 55 3 3 0 0.0% 0 - 0 100.0%
! 4 3 1 25.0% 0 0.0% ] 75.0%
47PHEE 1 1 0 0.0% 0 — 0 100.0%
ERETFRAE 99 56 43 43.4% 20 46.5% 16 72.7%

_.1 O_.



2]

5] F&

oar

e

(0

—

-
l..||..||..|=—||-.||?7"-..ll..l

100. 0%
100.0%

100.0%
100.0%

88.9%
100.0%

i
62|iL BT
K EFRLG
B4l1BEATTH
THEE
65 | EREET
66 7L.JI|r

2]
h=id
b
¥
3
*
E]|
g Y PN (V] S [ Y Y O L) N Y PICY Y Y Y Y
~t= o= lololo|— o |o]—je == f——

—_
=
-
'S

68 f‘lEElr

[=>]
=
i
o
|
o ..|| o ..|| ...;

2
2uior
EE

S
<
ot
i
3t

m
o
3t

2]
73|

=l
o

C

El
=
=l

y
Bl 25 35
(- it

o

~d
ow
ﬁ ii
I = =i
=1 | .u =7 .J| .|| =

77 ﬁ;ﬂr
78 Ei-yr

[a-]
o
g
=1

81 Ellﬁr

i
ol
Rl

=
el
bax
al
E

5
5

[<~]
—_
F*E.‘P
1 | et 1 o 1
._|| =y ..q < | -u =<l -u -ll I [T =T

B6|Z= R
87303k
88/ H T
89| B &7
90 ?asu-lr

El

93 Vni.l.lr
94| = A
05| RS T
96|HEZT
97X 41
o8| B AT
WOIERBET

LA

w (Cjo|lojolo|oolooolo|luioolCo/olOiolo /oo ioo|ioIocloDololc] - 1C(o|o/CO == oIc{-Olo|C|ole o

[
o |ooo|loojc|oo|o|o oo |o|o Qoo | o|o|CIo D oIOIQO oo IOID|o] N | Ooo|ole Qo= (oo« |o|e|o|oio|e
i

|
o |o|o|ojle|o|o|lo|e|o|lo|o|o|o|o|c|o|o|o|o|elo|o|e|eIo|o oo |e o] M Olo|o|o|eio (oo oo oIo|e|e

0.0%

&5 12

~d
Py
o
o
s
jury
[~
a8

22| 4404

—
)
~
w
o
I

OFEHR

JERIET, 2FETML$#@L«&E?#200mEEz%E%
OREHRER

FH19F54A1BHE ‘

_]‘]_



NER3E 19 16 3 15.8% 1 33.3% 0

2 EER 21 9 12 57.1% 2 16.7% 0
ieFE 0 0 0 — 0 — 0 —
4A=5E 7 4 3 42.9% 1 33.3%[ 1 71.4%
5|F AR 8 7 1 12.5% 0 0.0% 0 87.5%
6[LLifiz 18 7 5 2 28.6% 1 50.0% 1 85.7%
JEEER 43 24 19 44.2% 3 15.8% 3 52.8%
AEE5] 0 0 0 - 0 — 0 —
aliEA R 0 0 0 — 0 — 0 —
1 10lF#EE 0 0 0 — 0 - 0 —
I ESE] ] 0 0 — 0 — 0 —
21 TR 6 5 1 16.7% 1] 100.0% 0 £3.9%
13| R 5T 0 i} 0 - 0 — 0 —
I EEESTES 8 7 1 12.5% 1] 100.0% 0 87.5%
15388 0 0 0 — 0 — 0 —
16[E LR 15 15 ) 0.0% 0 — 0 100.0%
I ESIEY 0 0 0 — 0 —_ 0 —
18|52 o 0 0 — 0 — 0 —
19 FIE 2 2 0 0.0% 0 - 0 100.0%]
20| EEIE 32 22 10 31.3% 7 70.0% 5 84.4%
21 B 3 2 1 33.9% 0 0.0% 0 66.7%
221 EHE 18 14 8 5 42.9% 61 100.0% 6 100.0%
232418 3 0 3] 100.0% 0 0.0% 0 0.0%
4| ZEE 21 17 4 19.0% 3 75.0% 0 81.0%
o5 EE 10 7 3 30.0% 0 0.0% 0 70.0%
26| STER AT i il 0 0.0% 0 — 0 100.0%
27| KB RT 48 31 15 32.6% 0 0.0% 0 67.4%
28| IR 4 3 1 25.0% 1] 100.0% 0 75.0%
) 13 5 8 61.5% 3 37.5% 3 61.5%
30|FN3RtL R 12 7 5 41.7% 1 20.0% 1 66.7%
3SR - 3 1 2 66.7% 2| 100.0% 2 100.0%
32 iR 1 1 0 0.0% 0 — 0 100.0%
33 R 3 2 4 66.7% 0 0.00% 0 33.3%
U EEBR 0 0 0 — 0 — 0 —
35LAE 15 10 5 33.3% 0 0.0% 0 66.7%
36|Ees 3 1 5 83.3% [¥] 0.0% [i] 16.7%
RIS 2 2 0 0.0% 0 = 0 100.0%
3B EIEIR 11 2 9 81.8% 4 44.4% 2 36.4%
lEHE 7 5 2 28.6% 0 0.0% 0 71.4%
40|EEE 3 2 1 33.3% 0 0.0% 0 66.7%
4145 0 0 0 — 0 — 0 —
42| BIH IR 6 5 1 16.7% 0 0.0% 0 83.3%
43/ pERIE 0 o 0 — i — 0 =
44| K2 2 2 0 0.0% 0 - 0 100.0%
45| Z IR 3 3 0 0,0% 0 — 0 100.0%
$6|ERBE 0 0 0 — g — 0 —
AR E 18 11 7 38.9% 0 0.0% 0 61.1%
MERESEh 378 244 134 35.4% 37 27.6% 24 70.9%

_1 2._



| Soebtgi |-
(FonTHE

..||-.|

1 49/ &

50 éw—ﬁﬁ

_H
s

52|48

53} T

541208

55|83

-u u..ll -J| -.q' ..|; T

56 R

57 &HET™

58| SR

-'I -'l

59| KR T

—

615

..|| =0T

62| BT

83|k hah i

64|32 TH

- . _.
=1 (=1 EF [ TSN =] [ ) E = (= F= Y R [ B LT S (A Y
o
[=3
=]
==

B | O | [ OO |NO OO [ N [ [ |
Ll lomiao | olo|= oo |oja|ro =k o]

—

D.0%

Qiooo|omoo|Io|o|o O] |o oM

BAmaH

(=]
(A ]
(73
N
[ ]
—

pary

35.5%

1

o

65| B EET

100.0%

L HENTG
=

=]
R BT

=]
~d
=l
=1 = A T

691 AR LT

70| b ET

NFHREW

72} 1Ekh

|.I||.J

13| 8T

T4 T

=

-]
(2]
i
iy

FRET

77143R

I8l R T

79} ES T

EL G

81| [E AT

I-il L d | sl | T | s ]

82| 2 |

83 rﬁ]*ﬁl’

s4{ A

85| IBERTH

86 mEI’

=1

87| F0Ex

88|/ LA

89| ¥

80|t2LUT

91| F BT

.92 | 5T

93|l

94| T

95| -RMET

96[REAT

971 K531

50.0%

100.0%

-II-'I-il-lI-lI-ilu|-l|-.l|-J||:l]'.L_..u-..l

R EGh

olol—|olo|o|ajovo|oiv|oloo|ojo|o— o= Io|w|o|oo|u|oiolo|o|o|o|w |

99 EEIR BT

" 100.0%

100.0%

hEmaE

R B ol g Bl o] (e [ e ] [ ] [and o] Pogy P femffend [an ] [an} Dol fom § o § Lo Y L fomn B L ] [ § (o § o § foam ] e ] ome ] (e [ ) - G ] e ] E

N
~J
e
—

22.2%

o vy o 1 B P =1 0= =1 [=1[=] (=1 [=][=] (=] [=} (=] [=] {=] =] [=} (=] B [=]{=] [=] [o] (=} [=1[=] (=] (=] [=] [« (=] (=] N RPN fo ] (=] [=1[=]{a] Y [=][=] EH (=] [=][=] CA [=1{=] [N ] 0

66.7%

- |oloo|lo|cjojo|o|oeIt|o|oio|eIo|o|o|e|@e|o oo |o|o|o|o|o|e || |o|e =

L !:r.-l.

Ra

468 297 171

36.5%

52

30.4%

L
w

OHEANE
ERET.
OsEE#H

P BRTLE A EEAEEEM2 0 0 niEE5 22,
Epi1 90448 18BE

13-



%2 EHERR

wloo||om o] |cofra]—

1HBNNE

18| BHE

191 B8

20| 55

21| BR

22|88 2

23|58

24|=FE

25 iiiﬁ'ﬁ?: :

26| BTARRT

21| KR

46|EREE

AR E

“w OCIOOOODDOOOOOOOODDOO—‘_OO—‘-OOOOOGDOO-‘-DDOOOOOOODOOO“'

[<23 CDOOODOODOOOQDOODD—‘QO-&ODOOOO—*ODOOOODOQOODQDDODOD

o ODDQDOOODDQOODOOODDDQODQOODDOOOOOQDOOODOODOOOOO

.._‘I 4._.




=T

o

{7+

ba
=

-

=31 =)

63 |4k .4

Il
=[S

64|15

op

B

65 R EET

66[JBJIIT

67| &1

68| BLMET

CUEH BRI B R

69(ER LT

70[L v ETH

AR

FAMEES

73| #RET

74 Fﬁ?ﬁﬁf
=

=11 18

75)181EIR

76| ZF T

771& R

18| E 5T

79| BT

80| 4T

-81| T

82[E M

i [T ] Tl § ] wd | d 1| o]

g3l = Hir

g4 AR

FREERES

|t

B6|ZAT

87|k ILTH

88|l

89| B BT

90|fELUHA

91| T AT

92| S #AT

93 Lhv

941 A0

95| F T

96|FERT

oI (3T T {7 [T =T (= [T ST

97| X4

98| ElAT

ol

oo|EREM

B ]
11
]

e

P
[=]

T 16 51 11 58.8% 2 18.2%

OREHE )

ERET. 2R OULEFHTERKERLS 20 OMEB R 5BY.
OfE#E#£H

TH1944818HE

_15_.



R R AR AT

itimE

RN

EE_

EHEE

$EE

A

BER

Q{00 |~J || [ [ |ra [ —

TR

AR

BER

T=R
L

AN B

EWR

A&

B

TET:

REHE

0.0%

G

100.0%

100.0%

FHEE
BHE

100.0%

=8

100.0%

AT

. 100.0%| -

ABRAF

100.0%

EER

(AR (=1 (=] [=] (=] N [ [ ] [or] [=] [=] [} [ ] (] T () Lo} [ ] [em ] [} fom] L= {] (] [} (=]

100.0%

ZBR

OQMQDQOOAOOOOOOOOODOQDOOOOOOOm

MFLR

EHE

33.3%

ELiETES

B

100.0%

LER

[L=]

100.0%

BEEE

EITTE

100.0%

FES

=R

100.0%{ -

TS

100.0%

EER

R

100.0%

REER

100.0%

44| ROE

EIBR

ERER

100.0%

47

R

Olwu|ao|olmim|o]— = |ol=|o|alolnio|wojo||@{w{ic oo n e = 10]o|0|O[0 0|00 |0 = |OIN |Oo [T |— O —

O—IOQNNO—‘—O-AO'DDMO—‘OOONMNOO!N—‘OOOOODOOOCJHOODOOO—*O'—&

) ’

BERFEEH]

S
~J

(4]
juiry

-t
[=2]

34.0%

—_

SRR [=][=] [=3[=][=]) [=} ] {=] [a] o] =] o] N- [ o] [en ] L] Tl [mn] Lur)

—

- lo|o|o|ojojojojo|o|o|clo|slo|o|o|o|e

89.4%

_16_



'%ﬁ

&

éL\t

El

FET

HET

4T

iR

3;%E-‘Ir

= ..l] ..u..u..u .u?H_..u-.l

EAT

Hr
IZI-I-
HEll
El

B0
e

AL

|m

+

g 1
== 3rar

=

o [Olo|o|o|e M= = |C|o|Ic|C— Q==

r lolololojel~|clole|olo|je|—=|alelelol:

o o|olelolel=|—|—|clolc|ololo|ei—+|o

I (][] [=] (e} Y] Eod [ § B {on ) (a0} [on] [an ) [am] [an ] [m g {o=] [

v |olole|ole~lol-|olo|eje|olclele|e|

oy
o
o

[
(75

20

oy
S

j—y
[2+3

OWEHRZ

FERET, zwﬁrukiﬁﬁﬂaﬁﬁﬁﬁz00m§ﬁzéﬁwo

Oﬁﬁﬁﬁa
m19E4H1EHE

_.‘l T..




1 28 2 [ 2 2
2 0 0 0 0 0 —
3 i 1 (0] 0 0 100.0%
4 6 6 i 0 0 100.0%
5 2 0 2 0 0 0.0%
3 1 0 1 1 0 0.0%
7 3 3 0 0 0 100.0%
8 g8 0 g 0 0 0.0%
9 5 5 0 0 0 100.0%
10 4 2 2 2 1 75.0%
15 8 81 0 0 40.0%
12 4 1 3 2 1 50.0%
13| AR 31 1 i 0 0 100.0%
14| =R 10 9 1 1 1 100.0%
15| H5mae i} 0 0 0 0 —
1 Y 4 1 3 2 2 75.0%
FESTIEIN 7 0 7 0 0 0.0%
18| HE 1 0 i i 0 0.0%
I TETT S 1. 0 1 il 1 100.0%
20| EHE 1 1 0 g 0 100.0%
e 3 3 0 0 0 100.0%
22|58 E 10 4 [ 6 4 80.0%
23iBHE 6 3 3 0 0 50.0%
24i=FE 2 0 2 2 0] 0.0%
25 EHE 6 § i 1 0 83.3%
- 26| SHERRF 4 1 3 2 2 75.0%
27| KERAT 21 5 [ 3 1 28.6%
BIEEE 2 0 ‘2 2 2 100.0%
23|=gpE 7 2 5 5 4 B5.7%
3| fRi 2 4 3 1 i 1 100.0%
1| ERRE g9 5 4 4 0 55.6%
32| BiEE g 0 B 6 6 100.0%
33| EILR 11 |- 3 8 0 0 27.3%
HLEEE 5 i 4 0 0 20.0%
35/ILO8 2 0l 2 2 1 50.0%
BEER 5 3 ‘2 2 0 - 60.0%
FIENE 3 0 3 3 0 0.0%
BIEER 3 i 3 0 0 6.0%
33| =HEE 4 4 0 6 0 100.0%
40112012 8 8 i 0 0 100.0%
EER 3 1- 2 0 0 33.9%
42] EIR1E 8 5 3 3 ] £2.5%
43| EERE 7 0 7 0 0 0.0%
MK E 2 0 2 1 1 50.0%
45| EFE [ ol B 0 ] 0.0%
6|ERER 10 2 ] 0 0 20.0%
A7 B 2 1 i 0 0 .50.0%
MERES 65 40 57.2%




LENE

49|Ql&T

50[=LV
51| F2&T

52| ¥EET

53 II5T
54| 3B A

ST R (ST AT ‘-'lg_H_-'luT‘

55| SERE T
56 AT

58| AR

S ]

Qoo |=[o|s—~|w|o|o|elo|o|oie|olo

oloojoovw|olxio|lo|o|o|lw|o|C|le|o

-—
w

o [ololc]=|oe|=io|o|o|o|ovw|e|e|elo

—
[A]

~ [o|lo|lolo|am|o|w|oje|o oo |oo|o

53.8%

o |olo|o|oic|n|ovolo|o|oeo|eeo

31

133

178

72

40.4%

46

ORBERR
FERET.
OREEER

CEETCULEASEAKREEMN 2 00MERBZ 58N,
Trk1 94481 88E

_19_



LEE

FHRE

=2F 5

SHE

HEE

i

BER

R

wioe|~d|mlo]a]wlre ]| =]

AR

HER

BER

TER

B

MEIR

HRE

EWE

anE

EHR

HET:!

REE

e BB L

EREE

TR

=5R

HEE

FHAREF

KIRAT

EER

SELE

BHR

HiRE

filIR
LEER

=]}

33.3%

fEER

100.0%

EHIE

100.0%

FEE

100.0%

=AlE

100.0%

0.0%

f2iER

EER

100.0%

FIBE

0.0%

100.0%

BEAR

A&

0.0%

100.0%

AL

BEREE

B

~lololviol=|olrl~ ==~ |wlo|ojo|~|o]— = |—lojo|o|o|o|o (oo OO0 |O]|= | (N O = O = |2 S~ O |~

—‘ODNO—*O—‘D—"—‘“—*OOO—‘Q-—‘O—‘QODQOOOOONDOOOOOND—'Q—‘C’O—‘O-PA:

0.0%

100.0%

MEFRE

#

(4]
juirg

]
[

mAOOOOODQO—‘OOC}NOODOOO-‘OQOOOODOGOOQOOO—"QOOOODOQOO&:

25.8%

o ololololololo|lolo|lelolo|lo|loio|lolo|lo|lo|o|o|e|o|lae|o|jo|o|o|o|o|o|o|o|o|o|o|o|e|o|e | e @ |22 ;

74.2%

_2 0_



A B e iy P A G N E
2 2 0 0.0% 0 — 0 100.0%
T 0 0 0 — 0 — 0 —
50| 2LMv-ET 0 0 ] — 0 — 0 —
511FER 3 "3 0 0.0% 0 — 0 100.0%
S2liBETh 1 1 0 0.0% 0 — 0 100.0%
53| IS 0 D ] — ] - 0 —
S4|3riETh 0 0 0 — 0 — 0 —
55| E5 M h 0 0 0 — 0 — 0 —.
S6[EFRTH . 0 0 a — 0 - 0 —
SNETESN i 1 0 0.0% 0 — 0 100.0%
58| AR 0 0 0 — 0 — 0 —
B N 1 1 0 0.0% 0 — 0 100.0%
603 1 1 0 0.0% 0 — 0 100:0%
61 PTH 2 1 1 50.0% 0 0.0% 0 50.0%
82| L5 0 0 i — 0 — 0 —
-63|db AT 1 1 0 0.0% 0 — 0 100.0%
64/ 12T 0 0 0 — 0 - a —
Bt 12 11 1 8.3% 0 0.0% 0 91.7%
65| EHEETH - g 0 ol — 0 — 0 —
66| fBJIlTH 0 0 0 — 0 — 0]l. —
81| E&m 0 0 0 — 7 — 0 —
68| FAET 0 0 0 - 0 — 0 —
R EGd 0 0 0 — 0 — 0 —
T0{LvhETR 0 0 0 — 0 — ol —
71 [FB=H i 0 0 — 0 — 0 —
72] )il 0 0 0 — 0 — 0 —
I3 AREE™ 0 0 0 — 0 - ol —
4|iEARE™H 0 0 0 — 0 — 0 —
754 8ERT 0 0 0 — @ — el —
76| E U 0 0 0 — 0 - 0 —
77| &R 0 0 0 — 0 — 0 —
13l R EFm 0 0 0 — 0 — 0 -
79| BB 1 1 ] 0.0% 0 — 0 100.0%
80| BB 0 i) 0 — 0 — 0 —
81| T 0 0 0 — 0 — 0 —
R 0 0 0 — 0 — 0 —
83[=Hin 0 0 0 — 0 — 0 —
B4 AR 0 0 0 — 0 - 0 —
85158 ¢ 0 0 - 0 — i —
86| ZERM 0 0 0 — 0 — 0 —_
s7iFEnUT 0 0 0. — 0 — 0 —
88| @ 1 0 i — 0 — g -
89| BT 0 0 ) — 0 — 0 —
ENEETA 0 0 0 - 0 — 0 —
91 FEHH 0 0 0 — 0 — 0 —
S ST 0 0 D — 0 — D —
93 ¥l 0 0 0 - 0 — 0 —
94| = FHith 0 0 0 — 0 — 0 —
- 95| RIATH 0 0 0 — 0 — 0 —
96{gERT 0 0 0 — 0 — 0 —
97| K&HH i 0 0 — 0 — 0 —
o8| ZIETH 0 0 0 — ) — 0 —
WERET 0 0 0 — 0 — 0 —
PETEE 1 1 0 0.0% 0 — 0 100.0%
BEt 44 35 9] 205% 0 0.0% 0|  795%
OFERR

ERET, 2HBCUEELITEREEEA20 OME22 8.
OmEEXER
TRE194E4 81 BEE

..21..



